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1.1 F Ω . :

(1) Ω ∈ F ;
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(2) A ∈ F , Ac = Ω − A ∈ F ;

(3) An ∈ F , n ∈ N,
∞⋃

n=1

An ∈ F ,

F Ω σ ( σ ). (Ω, F) . F
.

, F Ω σ , : (1) ∅ ∈ F ; (2) A,B ∈ F ,

A − B ∈ F ; (3) An ∈ F , n ∈ N,
∞⋂

n=1

An ∈ F .

1.2 A Ω , A σ A
σ , A σ , σ(A).

1.1 , Ω A0 = {∅, Ω}, A1 = {∅, A, Ac, Ω}
A2 = {A : A ⊆ Ω} σ , C = {∅, A, Ω} σ . C σ

σ(C) = {∅, A, Ac, Ω}.
1.3 Ω = R, A = {(−∞, x) : x ∈ R}, A σ

σ(A) R Borel σ , B(R). B(R) Borel . ,
R

n Borel σ B(Rn).

1.4 (Ω,F) , P (·) F .
P (·) :

(1) : P (A) � 0,∀A ∈ F ;

(2) : P (Ω) = 1;

(3) : Ai ∈ F , i = 1, 2, · · · ( i �= j ,
Ai ∩ Aj = ∅),

P
( ∞⋃

i=1

Ai

)
=

∞∑
i=1

P (Ai),

P (Ω,F) , . (Ω,F , P ) . P (A)
A . F .

.

:

(1) P (∅) = 0, P (Ac) = 1 − P (A),∀A ∈ F .

(2) : Ai ∈ F , i = 1, 2, · · · , n, ,

P
( n⋃

i=1

Ai

)
=

n∑
i=1

P (Ai).

(3) : A,B ∈ F , A ⊆ B, P (A) � P (B).
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(4) : Ai ∈ F , i = 1, 2, · · · , n,

P
( n⋃

i=1

Ai

)
=

n∑
i=1

P (Ai) −
∑

1�i<j�n

P (AiAj) +
∑

1�i<j<k�n

P (AiAjAk) − · · ·+

(−1)n+1P (A1A2 · · · An).

(5) : Ai ∈ F , i = 1, 2, · · · , n,

P
( n⋃

i=1

Ai

)
�

n∑
i=1

P (Ai).

. .
1.5 {An, n � 1} ⊆ F An ⊆ An+1 ( An ⊇ An+1),

n � 1, {An, n � 1} ( ).

{An, n � 1} , lim
n→∞An =

∞⋃
n=1

An. {An, n � 1}

, lim
n→∞An =

∞⋂
n=1

An. {An, n � 1} ,

lim sup
n→∞

An =
∞⋂

n=1

∞⋃
i=n

Ai.

(6) : {An, n � 1} ( ) ,

lim
n→∞P (An) = P

(
lim

n→∞An

)
.

{An, n � 1} ,

B1 = A1, Bn = An − An−1, n � 2.

{Bn, n � 1} , n � 1,
n⋃

k=1

Ak =
n⋃

k=1

Bk,

∞⋃
n=1

An =
∞⋃

n=1

Bn.

P
(

lim
n→∞An

)
= P

( ∞⋃
n=1

An

)
= P

( ∞⋃
n=1

Bn

)
=

∞∑
n=1

P (Bn)

= lim
n→∞

n∑
k=1

P (Bk) = lim
n→∞P

( n⋃
k=1

Bk

)

= lim
n→∞P

( n⋃
k=1

Ak

)
= lim

n→∞P (An).
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, .

(7) Borel-Cantelli : {An, n � 1} ,
∞∑

n=1

P (An) <

∞,

P
(

lim sup
n→∞

An

)
= 0.

∞⋃
k=n

Ak(n = 1, 2, · · · ), n . (5)

(6)

0 � P
( ∞⋂

n=1

∞⋃
k=n

Ak

)
= P

(
lim

n→∞

∞⋃
k=n

Ak

)
= lim

n→∞P
( ∞⋃

k=n

Ak

)
� lim

n→∞

∞∑
k=n

P (Ak) = 0.

. .

1.6 A,B ∈ F ,

P (AB) = P (A)P (B).

A,B, C ∈ F ,

P (AB) = P (A)P (B), P (AC) = P (A)P (C), P (BC) = P (B)P (C)

P (ABC) = P (A)P (B)P (C).

, n A1, A2, · · · , An ∈ F , k

Ai1 , Ai2 , · · · , Aik
(1 � i1 < i2 < · · · < ik � n),

P (Ai1Ai2 · · ·Aik
) = P (Ai1)P (Ai2) · · ·P (Aik

).

A1, A2, · · · , An, · · · ∈ F , .

, A1, A2, · · · , An , F1 = σ(Ak, 1 � k �
m), F2 = σ(Ak,m + 1 � k � n), B1 ∈ F1 B2 ∈ F2, B1 B2

.

(8) A1, A2, · · · , An, · · · ,
∞∑

n=1

P (An) = ∞,

P
(

lim sup
n→∞

An

)
= 1.

(8) .

, . .
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1.7 A , P (A) > 0, P (AB)/P (A) A

B , P (B|A),

P (B|A) =
P (AB)
P (A)

.

, P (AB) = P (B|A)P (A), . ,

P (A1A2 · · ·An) = P (A1)P (A2|A1) · · ·P (An|A1A2 · · ·An−1).

, . A1, A2, · · ·
,

⋃
n

An = Ω, {An} Ω .

(9) : {An} Ω , P (An) > 0, ∀B ∈ F ,

P (B) =
∑

n

P (An)P (B|An).

(10) : {An} Ω , P (An) > 0,

P (A) > 0,
P (An|A) =

P (An)P (A|An)∑
k

P (Ak)P (A|Ak)
, n � 1.

, PA(·) = P (·|A), PA(·) (Ω,F)

, (Ω,F , PA(·)) , A,B, C ∈ F ,

P (AB) > 0 , PA(C|B) = P (C|AB); P (C|AB) = P (C|A) P (BC|A) =

P (B|A)P (C|A) . , {Bn} Ω ,

C ⊆
⋃
n

Bn,

PA(C) =
∑

n

PA(Bn)PA(C|Bn),

P (C|A) =
∑

n

P (Bn|A)P (C|ABn).

1.1.2

1.8 (Ω,F , P ) , X Ω , R

. x ∈ R, {ω : X(ω) � x} ∈ F , X(ω)
(Ω,F , P ) , .

F (x) = P ({ω : X(ω) � x}), −∞ < x < ∞
X .
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, ω {ω : X(ω) � x} ,

{X � x} {X ∈ (−∞, x]}. , x, {X � x}, {X � x}, {X < x}
{X > x} σ F , F

X Y , {X < Y }, {X � Y }, {X = Y } {X �= Y } F .

X, {X � x}(x ∈ R) σ X σ

( ), σ(X). , X1, X2, · · · , Xn σ

( ).

X Y (Ω,F , P ) , P ({X �= Y }) = 0

, , X = Y, a.s.. X Y ,

X ± Y XY . , {Xn} ,

supn Xn, infn Xn, lim sup
n→∞

Xn lim inf
n→∞ Xn .

, .

1.9 X , X

. X (a, b),
, a −∞, b ∞.

X , X x1, x2, · · · , xn, · · · ,
X xi

pi = P ({X = xi}), i = 1, 2, · · · , n, · · ·

,

F (x) =
∑

xk�x

pk.

X , f(x),

F (x)

F (x) =
∫ x

−∞
f(t)dt, ∀x ∈ R.

, f(x) X , .

f(x) , dx (x, x + dx)

,

f(x)dx ≈ P (x < X < x + dx).
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X (a, b) , X (a, b)

, ∫ b

a

f(x)dx = P (a < X < b).

, (−∞,∞) A,

P (X ∈ A) =
∫

A

f(x)dx.

1.10 X1, X2, · · · , Xn , X = (X1, X2, · · · , Xn)
n ( ) . R

n n

F (x) = F (x1, x2, · · · , xn) = P (X1 � x1, X2 � x2, · · · , Xn � xn)

X n n . R
n f(x) =

f(x1, x2, · · · , xn), R
n

D = {(x1, x2, · · · , xn) : ai < xi � bi, 1 � i � n},

P (X ∈ D) =
∫

D

f(x)dx1dx2 · · ·dxn, (1.1)

X , f(x) X ,
.

, R
n D, (1.1) .

F (x) =
∫ x1

−∞
· · ·

∫ xn

−∞
f(s1, s2, · · · , sn)dsn · · ·ds1.

F (x) R
n D n , P (X ∈ D) = 1,

f(x) =

⎧⎪⎪⎨
⎪⎪⎩

∂nF (x)
∂xn · · · ∂x1

, x ∈ D,

0, .

, , .

1.1 X = (X1, X2, · · · , Xn) f(x) =
f(x1, x2, · · · , xn), Yi = gi(X)(i = 1, 2, · · · , n) X ,
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Xi = hi(Y ) = hi(Y1, Y2, · · · , Yn), i = 1, 2, · · · , n. gi, hi ,
Y = (Y1, Y2, · · · , Yn)

g(y) =

⎧⎪⎨
⎪⎩

f(x)|J |, y (g1, g2, · · · , gn) , |J | �= 0,

0, .

, y = (y1, y2, · · · , yn),x = (x1, x2, · · · , xn), xi = hi(y), J

,

J =

⎛
⎜⎜⎜⎜⎝

∂x1
∂y1

∂x1
∂y2

· · · ∂x1
∂yn

...
...

...

∂xn

∂y1

∂xn

∂y2
· · · ∂xn

∂yn

⎞
⎟⎟⎟⎟⎠ .

, ( ) .

1.11 F (x) X . 1 � i1 < i2 < · · · <

im � n,

Fi1,··· ,im
(xi1 , · · · , xim

) = F (∞, · · · ,∞, i1,∞, · · · ,∞, i2,∞, · · · ,∞, im,∞, · · · ,∞)

X m ( ) .

1.12 X = (X1, X2, · · · , Xn) F (x). ∀x =
(x1, x2, · · · , xn) ∈ R

n,

F (x) = F1(x1)F2(x2) · · ·Fn(xn), Fi(xi) = P (Xi � xi),

X1, X2, · · · , Xn .

, X, Y, Z , X ± Y , X · Y , X/Y (Y �= 0) Z

. , g(X, Y ) h(Z) .

.

(1)

0 � p < 1, n � 1. X

P (X = k) = Ck
npk(1 − p)n−k, 0 � k � n,

X (n, p) , X ∼ B(n, p).
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λ > 0. X

P (X = k) =
λk

k!
e−λ, k = 0, 1, 2, · · · ,

X λ , X ∼ P (λ).

0 < p < 1. X

P (X = k) = (1 − p)k−1p, k = 1, 2, · · · ,

X p , X ∼ G(p).

(2)

a < b. X

f(x) =

⎧⎪⎪⎨
⎪⎪⎩

1
b − a

, a < x < b,

0, ,

X (a, b) , X ∼ U(a, b).

μ ∈ R, σ > 0. X

f(x) =
1√
2πσ

exp{−(x − μ)2/2σ2},

X (μ, σ2) , X ∼ N(μ, σ2).

λ > 0. X

f(x) =

⎧⎪⎨
⎪⎩

λe−λx, x � 0,

0, x < 0,

X λ , X ∼ Exp(λ).

n μ = (μ1, μ2, · · · , μn), Σ n ,

|Σ|. n X

f(x) = (2π)−n/2|Σ|−1/2 exp
[
− 1

2
(x − μ)Σ−1(x − μ)T

]
,

x = (x1, x2, · · · , xn), X n , X ∼ N(μ,Σ).
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1.2 Z1, Z2, · · · , Zn , f(z),
Z(1) � Z(2) � · · · � Z(n), Z(1), Z(2), · · · ,

Z(n) .

z1 < z2 < · · · < zn, h > 0,

0 < z1 < z1 + h < z2 < z2 + h < · · · < zn−1 + h < zn < zn + h.

{zk < Z(k) � zk + h, 1 � k � n} =
⋃

(i1,i2,··· ,in)

{zj < Zij � zj + h, 1 � j � n},

,

lim
h→0

P (z1 < Z(1) � z1 + h, z2 < Z(2) � z2 + h, · · · , zn < Z(n) � zn + h)
hn

= lim
h→0

n!
P (z1 < Zi1 � z1 + h, z2 < Zi2 � z2 + h, · · · , zn < Zin

� zn + h)
hn

= lim
h→0

n!
n∏

j=1

P (zj < Zij
� zj + h)

h
= n!

n∏
j=1

f(zj).

Z(1), Z(2), · · · , Z(n)

f(z1, z2, · · · , zn) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

n!
n∏

j=1

f(zj), 0 < z1 < z2 < · · · < zn,

0, .

(1.2)

(1.2) , Zi(1 � i � n) ,

[0, t] , Z(1), Z(2), · · · , Z(n)

f(z1, z2, · · · , zn) =

⎧⎪⎨
⎪⎩

n!
tn

, 0 < z1 < z2 < · · · < zn � t,

0, .

(1.3)

1.1.3 -

, - . G(x)
(−∞,∞) , h(x) (−∞,∞) . ∀a < b,

G(x) - .


